Name: Grade: Date:

Instructions: Solve the following problems involving Net pay, Overtime rate and
Overtime pay by placing ALL WORKING in the LARGER BOXES and FINAL ANSWERS
in the SMALLER BOXES for each question.

1) A woman earns $90 gross pay per week and has $4.36 deducted for National
Insurance, $3.52 deducted for Income tax, $4.50 towards pension.
Calculate:-

a) Total Deductions =

b) Net Pay =
4 marks
2) Complete the table to find (a) overtime rate  (b) overtime pay
Regular | Overtime Overtime Overtime Overtime
Rate Rate rate $ hours Pay S
$5.20 | Double
time 7
Time and
$6.80 a Half 10
6 marks
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